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Master of Arts [Economics] 4™ Semester
(2054)
Opt. (v) ECONOMETRICS—II
Paper-MAECO-403 & 404 (In all Mecdiums)

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— The first question is compulsory. Attempt one out of the
two questions from cach Unit. A non-scicntific,
non-programmable calculator is allowed.

1. Attempt any ten questions of the following :

() Define a reduced-form model.

(W) What is the use of instrumental variables in the estimation of
structural parameters ?

() Howis GLS useful in 3SLS estimation ?

(iv) Explainthe LPM.

(v) How LPM and Probit models are different ?

{(v)) Comment upon the curvature of a Logit model.

(vii) What kind of heterogencity in data is assumed to be present
ina fixed effect model-Deterministic or random ? Summarize
your response with a suitable defence.

(viif) How will you test the significance of cross-sectional
heterogeneity while using a random effect model 9
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@x) Define theuseof adjustment parameter in the estimationof

ARDL modcls. ‘ |
(x) Howa VAR model is supcrior to a simultancous cquations

model 7

(xi) Supposc two scrics arc I(1) and onc scrics is /I(0) in a
trivariate model. Can a VAR model] with all level J(0) scries
be used to check the existence of Granger Causality 7

(xii) Would you prefer a univariate ARIMA-based model or a
multivariate cointegration-based model to forecast the valuc
of adependent variate ? Support your answer using an example
from economic theory.

(xiii) How Dickey Fuller model with drift is different from the
without drift model ?

(xiv) Why was the Dickey-Fuller regression augmented to propose
the Augmented Dickey Fuller test of unit-root ?

(xv) Why is Tau a one-tail statistic to test the null of the existence
of unit-root against the alternative of its absence ?

2x10=20
UNIT-I
2. Discuss the rank and order conditions using a structural model
of your choice. 15
3. Discuss in detail the 3SLS technique of estimating parameters
of a simultaneous equations model. 15
UNIT-II

4. Discuss the LPM model. What are its shortcomings and how
may GLS help to resolve some of the problems of LPM ?
5+5+5=15
5. What do you mean by Probit estimation ? How are the Odd
ratios estimated using a Probit model different from the marginal
effects ? Discuss any two measures of Goodness of fit of the
model in Probit estimation. 545+5=15
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UNIT-III
6. The idea of using geometrically declining weights to distributed
lag items defined over infinite lags is helpful in the estimation of
the parameter of a dynamic model. Prove using a suitable
estimation model. 15
7. Discuss the random effect model in detail. In what condition a
random cffect model is suitable and be preferred over a fixed
effect model ? 10+5=15
UNIT-1V
8. Discuss the Correlogram as a test of stationarity. How
the confidence bound for a correlogram can be drawn after
plotting auto-correlation coefficients againstk = 1, 2, ...... K
period lags ? 15
9. Discuss the formation of a VAR model with X,p X, and X
time series. How will you define Granger causality for such a

model ? 8+7=15
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